Name: Block: ___ Date:

Homework - Significant Figures and Scientific Notation

Determine the number of significant figures for each of the following.

1. 5432 6. 40319 S 11. 146 16. 3.285 Q
2, 0.189 5 7. 429.3 12. 28730 o] 17. 99.9

3. 0.0023 8 144 2 13. 2500 18. 2500.0 )
4. 1.04 % 9. 35.08 14. 8365.6 _ 5 19, 48.57193

5. 7.500 10. 7,500 o 15. 0.920 20, 0L002300 g
Using significant figures, calculate the following addition and subtraction problems.

1. 12em + 0,031 em + 7.969 em = / l l
2, 0.085cm+0.062cm+ 0. 14gem = O.?.q 914 /" & l'“‘ :
3. 3419g+3.912g+ 7.0518 g+ 0.00013g= o LW

4, 87g+1543g+19¢= 43a.

(2

6. 41.025em-2328em=_ 1119¢cm

143.0 ml + 289,25 ml + 107.85 ml = ¢ 5 ? g;
= O &~

7. 289g-43.T¢= N
o —— ?ns;hmuﬂ
—...——--"""_.——_

8. 145.63 ml - 28.9)ml = 110."7 ndl
9. 6247g-39.9g=

10. 40.08)ml - 29.0941 ml = l().“\q ml

Using significant figures, caleulate the following multiplication and division problems.
I. 289 emx4.0l em=

2 1?.3cmx£2_cm: “OC‘ml

3 3.08mx1.2m=

4. Fbommx73206mm=_ols_ tom >
20.8dmx 123.1 dm =

6. 8.071 e+ 4216 cm=__ 1 ACm

7. 24789.4km’+ 43 5km =
4

8. 1093758 m*+5813m=_18.39-0

9, 6058 mn®+ 0,85 mm =

3 2
10.4£23m?+ 18491 m=__ 0.2 %90

un

Convert the following standard notations to scientific notation.

1. 28,000,000 . 6. 62,500 {f‘l%)doq-

2 305,000 305 K]_nﬁ' 7 0.002403

3, 0.000024863 8. 8,809,000 E Bﬁ! ")E

4. 34523 3 4513 X\ 9. 0.251

5. 0.00025 Q.E x4 10. 3,010,000 Iy 10 &
Sty




Convert the following scientific notations to standard notation.

1. 854x10% 6. 3.86x10° 2 31 0 0000 00
2. 2101x10°® 0.00002101 3, 2511 x107

3. 3.051x10 8. 4s820x10° A T20000

4. 594x107 0.000594 9. 2.88x10°

5. 827x10° 10. 4.05x107? 0.040%

Calculate the following addition and subtraction problems.(Remember Sig. Fips.)
1. (1.20x10% + (3.600 x 10% + (4.3000x 10% =

(Tx 10Y+(6.5x 10" + 4.9x10% =
(3.3x 10" + (1.32x 10" =
(1.2x10% + (3.1 x 10 + (7.969 x 10% =
(8.3x10%) + (6.2x 104 + (3.412x 103 =
6. (8.523x10% - (6.27x10% =
7. (3.25x10% - (4.679x10% =
8. (6.452x10%-(5.352x10% =
9. (6.2x10%—(6.18x10%) =
10, (2.89 x 107 - (4.37x 103 =

e Do

wn

Calculate the following multiplication and division problems.(Remember Sig. Figs.)
1. 6x10)x@x10% =

2, (3.2x10%x(3.332x10% = 5‘453 (o
3. (5.432x10%x (3.67933x10% =
4. (9.8670x10%)x (2.1x10% = 5“*3& € L"

n
B

(7.26 x 107 x (3.0030 x 10%) = 5 U{?)'A x[gLI

6. (7.7x109+ (1.1x10% =

7. (853x10%+(.0x10% =

8. (9.32x10%)+3.1x10%=

w350 o 0wz - 15y w;"
*?._8_'7? 10. (8 ﬂL—; mjh (L4 ; x10%) = ARFa0)

(4.367 x 10%
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